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This diagram is best called:

A

> B

C

illogical loop
Free flowing loop

slack loop

correct loop
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" Flag question

One of the following is not a basic rule to
follow in project networking

@ & Looping is allowed (recycling through
a set of activities can take place).

O b. we have to use common start and
stop nodes.

O ¢ 4An activity cannot begin until all
preceding connected activities are
complete.

O d. Arrows indicate precedence and flow
and can cross over each other.

Question 8
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' Not yet answered

Marked out of 2.00

" Flag question

In the communication model, when we say
N(N-1)/2, N here means one of the
following

O a. number of comunication stories
O b. Number of communication channels
O c¢. number of formal speakers

O d. Number of Stakeholders

Next page

4 Midterm Exam
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Jump to...
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The risk action owners execute the r
when the risks occur

Select one:
@ True

O False

Question 20
Not yet answered
Marked out of 2.00

¥ Flag question

One of the following is not from the communication
model components:

() a. knowledge
() b. transit message
() ¢. decoding
) d. feed back
(O e. Encoding

¢ f. opening message
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" Flag question

Total slack (Float) means:

O a. tells us the amount of time an activity
can not be delayed and not allowing
delay the project end date.

O b. Tells us the amount of time an activity
can be delayed but delay the project
end date

O c. tells us the amount of time an activity
can be occur well but delay the
project end date.

O d. tells us the amount of time an activity
can be delayed and not delay the
project end date.

Next page
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Question 14
Not yet answered
Marked out of 2.00

¥ Flag question

One of the following is not from the
communication model components:

() a. transit message
O b. feed back

O c. knowledge

(O d. opening message
() e. decoding

O f. Encoding

Question 1 5
Not yet answered

Marked out of 2.00
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Question 14
Not yet answered

Marked out of 2.00
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§” Flag question

One of the following is not from the
communication model components:

(O a. transit message
O b. feed back
(O c. knowledge

(O d. opening message

(O e. decoding
O f. Encoding
Question 19

Not yet answered

Marked out of 2.00
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Question 13 Time left 0:12:39

Not yet answered
Marked out of 2.00

" Flag question

Total slack (Float) means:

() a. tells us the amount of time an
activity can be occur well but delay
the project end date.

(O b. Tells us the amount of time an
activity can be delayed but delay the
project end date

() c. tells us the amount of time an
activity can be delayed and not
delay the project end date.

() d. tells us the amount of time an
activity can not be delayed and not
allowing delay the project end date.

Question 14

Not yet answered
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Question 8

Not yet answered
Marked out of 2.00

¥ Flag question

Merge Activity: an activity that has two or
more preceding activities on which it
depends

Select one:
O True

O False

Question 9
Not yet answered

Marked out of 2,00

" Flag question

In the communication model, when we say
N(N-1)/2, N here means one of the

fallowina
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Not yet answered

Time left 0:06:04

Marked out of 2.00

" Flag question

In the communication model, when we say
N(N-1)/2, N here means one of the
following

() a. number of comunication stories
O b. number of formal speakers

@ €. Number of communication
channels

) d. Number of Stakeholders

Clear my choice
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Question 18
Not yet answered
Marked out of 2.00

" Flag question

Forward Pass—Earliest Times includes how
late can the activity start.

Select one:
@ True

O False

Next page
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Not yet answered

Marked out of 2.00

" Flag question

All of the following statements are true about
A burst activity but not one:

O a. an activity that has more than one
activity immediately following it
O b. Some activities can occur in parallel.

O c¢. More than one dependency arrow
flow from it

O d. it flows from right to left

Question 15

Not yet answered
Marked out of 2.00

¥ Flag question
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Not yet answered

Marked out of 2.00

" Flag question

All of the following statements are true about
A burst activity but not one:

O a. an activity that has more than one
activity immediately following it
O b. Some activities can occur in parallel.

O c. More than one dependency arrow
flow from it

O d. it flows from right to left

Question 1 5

Not yet answered
Marked out of 2.00

" Flag question
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Question 20

Not yet answered
Marked out of 2.00

" Flag question

When the total float for an activity is Zero; the
activity is called :

O a. Slack
O b. Burst
O c. Node
O d. Critical

Finish attempt ...
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Question 1

oLyet answered

d out of 2.00

g question

Merge Activity: an activity that has two or
more preceding activities on which it
depends

Select one:
) True

) False

Question 2
Not yet answered

Marked out of 2.00

{" Flag question




v In the communication model, when we say N(N-1)/2, N here means one of the following

Q, Number of communication channels
® b. number of comunication stories
¢. Number of Stakaholders

d. number of formal spaakars
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{” Flag question Time left 0:06:09

One of the following is not a cost risk:

() a. costsincrease when problems take
longer to solve than expected

— = Deciding to use the schedule to
solve cash flow problems should be
avoided.

@® c. Electricity is cutting off frequently in
the area

Price protection risks (a rise in input
costs) increase if the duration of a
project is increased.
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Project network fimes are nol a schedule
uniil resources have been assigned

Sedact one

One of the lollowing s not from the communication model c omponernis;
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This diagram is best called:

A

» B

O a.
O b.

O C.
O d.

C

illogical loop
Free flowing loop
slack loop

correct loop
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Not yet answered Time left 0:00:01

Marked out of 2.00

{” Flag question

When the total float for an activity is Zero;
the activity is called :

® a. Node
) b. Slack
() ¢. Burst

() d. Critical

Question 20
Not yet answered

Marked out of 2.00
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Question 8

Not yet answered
Marked out of 2.00

" Flag question

Merge Activity: an activity that has two or
more preceding activities on which it
depends

Select one:
O True

O False

Question 9

Not yet answered
Marked out of 2.00

" Flag question

In the communication model, when we say
N(N-1)/2, N here means one of the

followina
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Marked out of 2.00

{” Flag question

When the total float for an activity is Zero;
the activity is called :

@ a. Node
O b. Slack
() ¢. Burst

O d. Critical

Question 20

Not yet answered

Marked out of 2.00




OOREDOO

Done

BB, Toutovtnd domusivmg b the e
.- wep

< e Cimsateminmd Projects are
¥ Py
Pidiowr e o jon
e o

ARt 11 em

BOsitive tacs
<5
- o,
5.
ey, Yoy i
iy, o e Ehiy iy YOu are Instructed '
& p"“\"u A hes Share st 0 o 0 ONLY), Top-down and down-up
Ay O Coge B SUch ag:
e
Ateep, tr e, DGQue
Al ¢
e o
D o the sbo
Ve
Page 3 o 2

More



all JAWWAL T 11:49 AM @ 6%

< CUiIak e All Media
14/06/2021, 11:13 AM

L el A AR AL

= M LaEe RV TNINRT RS e D g ML u'—ov-‘ .

® 0 Qo e
b Lot adw
c soos

AL e fawing 000

-l - gt — eninl
of —

0 %, kg I



= U Colls: +97{0/2)-2-2982000 & E-mail : help@rita).ps

The risk action owners axecute the resporse plans when the risks occur

Select ane:
O True

J False

In the communication model, when we say N(N-1)/2, N here means one of the

following

In the risk management process, we do ask which of the following questions :

A
o "ot

wWihat can be dor

= . Whot can go wrong

e AN ariwen o oo
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One of the following is not from risk response development:

O a. transferring risk

U b. defining risk

® c. mitigating risk
d. accepting risk

€. Avoiding risk




fon 1

et
ered

ad out of

3g question

Time left 0:48:07

One of the following statements is true about
critical path

a. the shortest path through the activity
network that allows for the completion of
all project-related activities

b. Delays on the critical path will delay
completion of the entire project

c. MNoe of the answers is frue

d the longest expected time in which the
entire project can be completed

Clear my. cholice
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Question 7
Not yet answered
Marked out of 2.00

¥ Flag question

Total slack or float for an activity is simply
the difference between the LS and ES or
between LF and EF

Select one:

O True
O False

Question 8

Not yet answered

Marked out of 2.00




One of the following is not from the communication 1
components:

O a. opening message
® b. fransit message
O c. feedback

O d. Encoding

() e. decoding

O f. knowledge

Finish of
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When the total float for an activity is Zero; the
activity is called :

a. Burst
b. Slack
c. Critical
d. Node

Merge Activity: an activity that has two or more
preceding activities on which it depends

Select one
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Question 19

Not yet answered
Marked out of 2.00

¥ Flag question

In the process of risk assessment, we usually
implement risk tactics and strategies

Select one:
O True

O False
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" Flag question

Project network times are not a schedule
until resources have been assigned

Select one:
O True

O False

Question 11

Not yet answered
Marked out of 2.00

" Flag question

This diagram is best called:

< u
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Which facts are true about the below
diagram :

L

Mah

Dulining Planning Esscutng Drlvmring

O a
O b.
O ¢.

Question 3

Frogpct Lite Orcle

None of the answers are true.
cost of risk starts low and ends high

chances of the risk are reducing
gradually along with
implementation .

All answers are true

Chances of the risk starts high and
ends low
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Question 20

Not yet answered
Marked out of 2.00

" Flag question

When the total float for an activity is Zero; the
activity is called :

O a. Slack
O b. Burst
O c. Node
O d. Critical

Finish attempt ...
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The risk action owners axecute the resporse plans when the risks occur

Select ane:
O True

J False

In the communication model, when we say N(N-1)/2, N here means one of the

following

In the risk management process, we do ask which of the following questions :

A
o "ot

wWihat can be dor

= . Whot can go wrong

e AN ariwen o oo
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Marked out of 2.00

¥ Flag question

Total slack (Float) means:

O a. tells us the amount of time an activity
can not be delayed and not allowing
delay the project end date.

O b. Tells us the amount of time an activity
can be delayed but delay the project
end date

O c. tells us the amount of time an activity
can be occur well but delay the
project end date.

O d. tells us the amount of time an activity
can be delayed and not delay the
project end date.
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Not yet answered

Marked out of 2.00

" Flag question

Total slack (Float) means:

O a.

O ¢

O d.

tells us the amount of time an
activity can be occur well but delay
the project end date.

Tells us the amount of time an
activity can be delayed but delay the
project end date

tells us the amount of time an
activity can be delayed and not
delay the project end date.

tells us the amount of time an
activity can not be delayed and not
allowing delay the project end date.

Question 14

Not yet answered







One of the following is not from the communication 1
components:

O a. opening message
® b. fransit message
O c. feedback

O d. Encoding

() e. decoding

) f. knowledge

Finish of
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When the total float for an activity is Zero; the
activity is called

a. Burst
b. Slack
c. Critical
d. Node

Merge Activity: an activity that has two or more
preceding activities on which it depends

Select one




